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QUESTION 1

As shown in the following figure, a new AP is deployed In dual link MSB networking (load balancing mode). Which AC
will the connect to? 

A. AC1 

B. Random access 

C. None 

D. AC2 

Correct Answer: C 

 

QUESTION 2

BFD control packets are encapsulated in UDP packets for transmission. What is the destination port number of multi-
hop BFD control packets? 

A. 4784 

B. 3784 

C. 5784 

D. 2784 

Correct Answer: A 

 

QUESTION 3

Which of the following statements about multicast packet forwarding is true? 
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A. If a multicast data packet fails the RPF check, the packet must have been received through a sub-optimal interface.
However, this interface still receives and forwards the multicast traffic downstream. 

B. IGMP snooping cannot control the scope of multicast traffic flooding on a Layer 2 network. 

C. The source address of a multicast packet is a unicast address. 

D. In multicast transmission, the destination address of a packet can be the unicast address of a host. 

Correct Answer: A 

 

QUESTION 4

To prevent inter-area routing loops, OSPF does not allow advertising routing information between two non-backbone
areas and allows sing routing information only within an area or between the backbone area and a non-backbone area.
Therefore, each ABR must be connected to the backbone area. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 5

In BGP, the origin attribute of the routes imported using the import-route command is incomplete. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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